
27 Simplification o Decima IS 

Date 

Page 

Eaaple -1 

SmplPy 9-75.+2 t 80-5.275 

Solution 

.3 
80.o 
q4 3 

I1 5. 120 
5.215 

3 0. 95 

4.900 
995 

l3 8 5 AnS 

Take qw ay 36.3 3 from 00. 

0 

36 3 3 
63.17 

.Ta ke ady l2.516 frrom 150 

- I12 5168 

37 43322 



2..2 

Date 
Page 

be tuoe en Find +he differte n ce 

39.02 . 24 

9,02 0o 
-9.8924 
79.1246 

Find the differmence betuoeln 0 
O.45 

O. O.qooo 
O.0945 
O.3055 

How mueh S hould be added to 
G42.5 to get a00 9 

O0OQ 4+25 
25143 

much Should be Subtrtacted 3. Hou 
Frrom So0to 9e+ 125. 159 

SOO.O6 
T25 15 



21.9.2 
Date 

Page 

4 bu how much does y. 3 ex ceed 

64 .025 9 

g 4.300 
- 4 O25 

30.+5 

10. Find the Sum of 0.9483 lo.0? 
Qnd +hen Su btrac +5.1 56 from* 

.Ol83 
5-3156 

.302 AnS 

0O Foo 
+0.4 83 
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